#### OFFICE OF THE PRINCIPAL: GOVT. POLYTECHNIC, HISAR

Office order no. 1471

Dated: 26 10 23

As per the DTE office order no. 39/Proc. Dated 20.10.2023 Sh. Desh Deepak, HOD T.D. and Sh. Rajesh Kadian, HOD T.T. will proceed to Panchkula on 27.10.2023 (regarding pre-bid meeting) by Govt. Jeep. Sh. Rohtash Kumar, Driver will drive the Jeep.

Principal

Govt. Polytechnic,

Hisar & Ple

Endst. No./GPH/2023/

Dated:

A copy of the above is forwarded for the following for information and necessary action.

- 1. TPO
- 2. Sh. Desh Deepak, HOD, T.D.
- 3. Sh. Rajesh Kadian, HOD, T.T.
- 4. Sh. Rohtash Kumar, Driver

### OFFICE OF THE PRINCIPAL GOVT. POLYTECHNIC, HISAR

Office order no. 1472

Dated: 26 10 23

Sh Sidharth Sharma, O/I Court Case, is authorized to attend the Hon'ble Civil Court Jind in case of Vishal V/S CBSE and Others on 27.10.2023 by own vehicle.

Principal Govt. Polytechnic,

Hisar &

Endst. No./GPH/2023/

Dated:

A copy of the above is forwarded for the following for information and necessary action.

- 1. HOD, Medical Eletx.
- 2. Sh. Sidharth Sharma, O/I Court Case
- 3. Civil Court, Jind

# Order No.:- 1473

Dated: - 26/10/23

As per E-mail received from HSTES Panchkula, Final cut-off date for Admission in Diploma (Engg) Courses for Admission session 2023-24 has extended up to 30.10.2023. In this regard, an Institute level Manual 30.10.2023 (Monday) for Diploma (Engg.) & Diploma (Engg.) Lateral Entry. The following duties are hereby assigned to staff members mentioned against their names to conduct above mentioned counselling:

S.No '	Nature of Duty	the second secon	
T. P. S. S. C. S.		Name of Staff members	Venue
	Receiving of Application Form	<ul> <li>Vinod ( Data Operator)</li> </ul>	Applied Science Office
2	Document Verification & Seat Allotment Committee	<ul> <li>Sh. Mukesh Bansal, TPO</li> <li>Sh. Naresh Suthar, HOD</li> <li>Sh. Sunil Bhutani, Lect.</li> </ul>	
3	Online fee Payment	<ul><li>Sh. Karan Singh</li><li>Sh. Naveen Kumar</li></ul>	TPO Cell
4	Online Updation on Admission portal	Satish Soni ,Data operator	
5	Peon/Attendant	<ul><li>Mandeep</li><li>Ajay (Med.)</li></ul>	

- Last date to submit Application form with relevant documents for above mentioned counselling is 30.10.2023 (12:30 pm).
- No online application form will be accepted for counselling.
- Seat allotment will be done on 30.10.2023 at 2:30 pm.
- Candidates have to deposit the admission/semester fee on same day after seat allotment otherwise allotted seat will be cancelled.

Principal Govt. Polytechnic Hisar

#### Endst No. GPH/2023/

Dated:-

A copy of above is forwarded to the following for information and further necessary action:-

- 1) TPO
- 2) HOD Applied Sci./Medical Electronics/TD
- 3) O/I Admission
- 4) O/I Mechanical
- 5) O/I Website (Sh. Kulbhushan Bansal, Sr. Lect to upload information on institute website)
- 6) DSO

### OFFICE OF THE PRINCIPAL, GOVT. POLYTECHNIC, HISAR.

Order No. 1474

Dated: 26/10/23

The following students are here by re-admitted on as under dated, the details of re-admission by the students fees deposited are as under:-

Ser No.	Name of student	Roll No	Branch	Semester	Remarks
01	Sanjay	220043200054	Med. Elect.	3 <sup>rd</sup>	On dt 17.10.2023
02	Sahil	220043200053	-do-	-do-	On dt 11.10.2023
03	Arun Kumar	220043200013	-do-	-do-	On dt 09.10.2023
04	Sawan Vishu	220043200055	-do-	-do-	On dt 09.10.2023
[ 03	VISHU	220043200063	-do-	-do-	On dt 16.10.2023

Endst. No.GPH/2023/

Copy of the above is forwarded to for information and necessary action:-

- 1. HOD, O/I- Med. Elect.
- 2. Exam/Admission Br./Tutor
- 3. Demand Clerk

Principal,

Principal,

Govt. Polytechnic, Hisar.

Govt. Polytechnic, Hisar.

1

No.	1475 From 01-07-202	31030-07-2	New Reading	Total Reading	Rate	Amount
. No	Name of Occupant	Old Reading	39022	862	8.5	7327
1	Principal Ashok Kumar	38160	19070	655	8.5	5568
2	Meera Siwach	18415	35797	995	8.5	8458
3	Naresh Kumar	34802	28505	848	8.5	7208
4	Tarun Sharma	27657	69223	900	8.5 8.5	7650
5	Pratibha Joshi	68323 14859	15601	742	8.5	6307
6	Ajay Jindal	55661	56159	498	8.5	4233 6333
7	Ashu App, Sci.	44251	44996	745	8.5	5338
9	Kulbhushan	57163	57791	628	8.5	663
10	Sunil Dutt Roshani Ranga upto 06.07.2023	46905	46983	78	8.5	425
10	Karan Doda from 6-9-23	46983	47033	50 773	8.5	6571
11	Rakesh Jindal	21544	22317	782	8.5	6647
12	Kanak Prabha	27072	27854	720	8.5	6120
13	Rajesh Kalra	30200	30920	747	8.5	6350
14	Satish Lect. Med. Elex.	31064	31811	655	8.5	5568
15	Yashwant Yadav	30599	31254	489	8.5	4157
16	Deepak	32618	33107	525	8.5	4463
17	Sunil Soni	4136	4661	728	8.5	6188
18	Satender Rohilla	37038	37766	497	8.5	4225
19	Anshu Lect FAA	27736	28233	758	8.5	6443
20	Tejendera Singh	38418	39176	642	8.5	5457
21	Arshad Jamal	15720	16362	607	8.5	5160
22	Raj Kumar DSO	18489	19096 324	172	8.5	1462
23	Anjali	152	21892	395	8.5	3358
24	Vijay Pal	21497 288	728	440	8.5	3740
25	Nitin Verma	20984	21402	418	8.5	3553
26 27	Jaibir Singh	24633	24803	170	8.5	1445
28	Kuldeep Jangra Sohan Lal	15041	15456	415	8.5	3528
28 29	Dinesh Nain	471	903	432	8.5	3672
30	Ashok Saini	16672	16970	298	8.5	2533
31	Sushma From	20261	20731	470	8.5	3995
32	Ashok Kumar	23685	24123	438	8.5	3723
33	Pardeep Kumari	21953	22551	598	8.5	5083
34	Ravinder Punia	20202	20592	390	8.5	3315
35	Vacant	0	0	0	8.5	323
36	Sandeep Clerk from 05.09.2023	6998	7036	38	8.5	0
37	Vacant	0	0	0	8.5	4080
38	Rajesh Lamba	2794	3274	480	8.5 8.5	1122
39	Jagdish Chander	3355	3487	132 392	8.5	3332
40	Balraj	4402	4794	348	8.5	2958
41	Sandeep Kumar	3050	3398 17315	395	8.5	3358
42	Renu	16920 575	966	391	8.5	3324
43	Sweety FT Sweety Med	12430	12565	135 _	8.5	1148
44	Ramesh App Sci	1056	1416	360	8.5	3060
46	Krishna	5364	5506	142	8.5	1207
47	Virbhan	3103	3231	128	8.5	1088
48	Punit Mehta	1958	2081	123	8.5	1046
49	Sube Singh	10506	10626	120	8.5	1020
50	Karan Peon	11091	11451	360	8.5	3060
51	Sonia GF	537	682	145	8.5	1233
52	Joginder	10337	10699	362	8.5	3077
53	Sanjay sigger	2125	2490	365	8.5	3103
54	Sunil Peon	380	743	363	8.5	3086
55	Ajay Kumar Peon	238	358	120	8.5	1020 2890
56	Dharambir Peon	13273	13613 17090	340 370	8.5 8.5	3145
57	Jitender	16720	0	0	8.5	0
58	Vacant Vacant	0	0	0	8.5	0
59	Balwant Singh Mess Hostel	692	817	125	8.5	1063
60	Vijendra Guard	1359	1747	388	8.5	3298
62	Ajay Attendant	344	479	135	8.5	1148
63	Vacant	0	0	0	8.5	0
64	Vinod DEO	1151	1263	112	8.5	952
65	Vacant	0	0	0	8.5	0
66	Mandeep Attendant	1436	1781	345	8.5	2933
67	Vacant	0	0	0	8.5	0
68	Dasmi Dass	12572	12732	160	8.5	1360
69	Vacant	0	0	0	8.5	0
70	Rajender Security	291	411	120	8.5	1020
71	Sanjay Sweeper From 11.08.2023	0	47	47	8.5	400

Endst. No: GPH/2023/

Incharge Electricity Bill Bill Clerk Cashier O/I Electrical Engg.

Principal Govt. Polytechnic, Hit Dated:

Office of Principal, Govt. Polytechnic, Hisar

Office Order No. GPH/ 1476

Sanction is hereby accorded to the grant of following kind of leave to Sh. Balinder Singh, Lecturer in Electronics and Communication Engg. for following days with permission to prefix/ suffix the being holidays under

rule 8.116, 8.119, 8.119c, 8.121, 8.137 of Punjab C.S.R Vol. 1 Part-1.

Sr. No.	Leave	From	То	Days
01	Earned Leave	19.10.2023	20.10.2023	02
		Total		02

Certified the official would have continued to officiate in the post, but for is proceeding on leave. E.O.L period

will not count towards annual increment.

Principal

Govt. Polytechnic

Hisar

Endst No. GPH/2023/

Dated:

A copy is forward to the following for information and necessary action please.

- 1. EA-1
- 2. O/I Electronics and Communication Engg.

Principal

Govt. Polytechnic

Hisar

Office of Principal, Govt. Polytechnic, Hisar

Office Order No. 1477

Dated 26/10/23

The sanction is hereby accorded under Sr. 1, Chapter-III of the T.A. rules read with Sr. No. 6 of the rule 15.1 of the Punjab civil services rule Vol.I part-I of Sh. Naresh Kumar, HOD, I&C performed the

following journey in the public interest.

following jou	irney in L	ne public	micrest.	3.6.1 Ciarama OV	Purpose	
Date	From	To		Mode of journey		
05.10.2023	Hisar	Jind		By Own Car	Court Caseof Vishal	

Note: 1. No TA/DA is allowed beyond 120 days during the current financial year.

2. The expenditure involved shall be met out of the TA grant of the Institution,

Principal

Govt. Polytechnic

Hisar 🌠

Endst No. GPH/2023/

Dated:

A copy is forward to the following for information and necessary action please.

1. Sh. Naresh Kumar, HOD, I&C

Office of Principal, Govt. Polytechnic, Hisar

Office Order No. 1478

Dated 26/10/23

The sanction is hereby accorded under Sr. 1, Chapter-III of the T.A. rules read with Sr. No. 6 of the rule 15.1 of the Punjab civil services rule Vol.I part-I of Sh. Rajesh Kumar Gautam, Lecturer in ECE performed the following

journey in the public interest.

journey in the	public int	terest.		Domesica
Date	From	То	Mode of journey	Purpose In Connection with the abroad Visit
05.10.2023	Hisar	Ambala	Dy 0 1111 0 012	In Collection with the description of the collection of the collectio

Note: 1. No TA/DA is allowed beyond 120 days during the current financial year.

2. The expenditure involved shall be met out of the TA grant of the Institution.

Principal

Govt. Polytechnic Hisar M Mul

Endst No. GPH/2023/

Dated:

A copy is forward to the following for information and necessary action please.

Sh. Rajesh Kumar Gautam, Lecturer in ECE

Principal

Govt. Polytechnic

Hisar

Office of Principal, Govt. Polytechnic, Hisar
Dated 26/10/23

Office Order No. GPH/ 1479

Sanction is hereby accorded to the grant of following kind of leave to Sh. Mukesh Bansal, TPO for following days with permission to prefix/ suffix the being holidays under rule 8.116, 8.119, 8.119c, 8.121, 8.137 of Punjab C.S.R Vol. 1 Part-1.

Sr. No.	Leave	From	То	Days
01	Earned Leave	10.10.2023	11.10.2023	02
		02		

Certified the official would have continued to officiate in the post, but for is proceeding on leave.

E.O.L period will not count towards annual increment.

Principal

Govt. Polytechnic

Hisar Ro

Endst No. GPH/2023/

Dated:

A copy is forward to the following for information and necessary action please.

- 1. EA-1
- 2. TPO

Principal

Govt. Polytechnic

Hisar

## OFFICE OF THE PRINCIPAL, GOVT. POLYTECHNIC, HISAR

Order No. GPH/2023/ 1480

Dated: 26/10/23

It is hereby informed that Mahindra Prides Classroom under Nandi Foundation will conduct a training program on Employability Skills/Soft Skills for final year girls students of Fashion Technology and Computer Engg branch from 26/10/2023 to 03/011/2023 (six working days for six hours daily) in the TPO Cell.

HOD FT and O/I CE are requested to send the girls students of their branch in TPO cell for the above mentioned dates.

Sh Sunil Dutt is requested for stay arrangement of the expert in Institute Guest House.

Sh Sandeep Olla , ATPO FT is requested to arrange the refreshment and Breakfast/Lunch and Dinner for the Expert

Principal, Govt. Polytechnic

Dated:-

Endst. No. GPH/2023/

A copy of the above is forwarded to the following for information and necessary action:-

- 1. TPO
- 2. HOD's FT
- 3. O/I CE
- 4. Sh Sunil Dutt, O/I Guest House
- 5. Sh Sandeep Olla ATPO FT

# OFFICE OF THE PRINCIPAL GOVT. POLYTECHNIC, HISAR

OFFICE ORDER NO: 1481

DATE: 26/10/23 The Names of following students of 1st ,3rd ,5th semester Textile Processing are hereby struck off because they are continuously absent for 14 days from the institute.

		Name	Semester
S.No	Roll No		1st
1	DE111760	Aniket kumar	1st
2	DE111761	Banabari	
3	DE111757	Navjot	1st
	C0052604	Rokhi	1st
5	C0052604	Shivam kumar	1st
6	DE110327	Vivek	1st
7	2200042600004	Ajay	3 <sup>rd</sup>
8	2200042600013	Banshi lal	3 <sup>rd</sup>
9	2200042600036	Panna lal Prajapati	3 <sup>rd</sup>
10	2200042600039	Pardeep singh	3 <sup>rd</sup>
11	2200042600054	Shubham	3 <sup>rd</sup>
12	LD204347	Omi	3 <sup>rd</sup>
13	2100042600050	Satyam	5 <sup>th</sup>

Principal Govt. Polytechnic Hisar \

Endst No. GPH/2023/

A copy of above is forwarded to:

- 1. HOD T.P 2. Tutor In charge 1<sup>st</sup> 3<sup>rd</sup> 5<sup>th</sup> Sem
- § 3. Notice Board 4. Exam Branch 5. Demand Clerk

DATE:

# OFFICE OF THE PRINCIPAL, GOVT. POLYTECHNIC HISAR Dated: 26/10/23

Order No. 1482

The following items of Consumer Electronics Lab. are transferred from Sh. Ajay Kumar, Guest Lecturer to Sh. Balinder Single Lecturer in ECE

	Description of the Article	Quantity
S.No	Distortion Level Meter	1
1	Distortion Level Meter  Digital Multimeter	2
2	Digital Multimeter  Digital Optical Fiber Trainer Kit	, 1
3		1
4	Analog Optical Fiber Trainer Kit	1
5	Function Generator	1
6	Field Strength Meter	1
7	Experimental Antenna Trainer	1
8	Logic Probe and logic Pulser	1
9	Dish TV Digital Decoder with accessories	2
10	Microphone and Loudspeaker Trainer Kit	
11	CRO	1
12	Wheatstone Bridge	2
13	Anderson Bridge	2
14	· Weins Bridge	2
15	De-Sauty Bridge	2
16	Maxwell Inductance Bridge	2
17	Schering Bridge	2
13	CDMA Trainer System	1
19	DVD Trainer System	1
20	GSM Trainer With Application Module	1
21	ESB for Optical Fiber Communication	1
22	Computer System ( DELL )	. 1
23	UPS Microteck	1
24	Xerox Printer	1
25	Hitachi Projector	1
26	Ceremic Coated White Board	1
27	Desoldering Pump Piston Type	3
28	Audio Test System	1
29	Function Generator 20Mhz	1
30	Soldering Iron	1
31	Microphone ASM-580XLR	3
32	Microphone Pro - 2000	4
3	Amplifier Mixer SPA - 5000	1
4	Column Speaker ASC - 20T	2
5	Column Speaker ASC - 40T	2
6	Audio Mixer AMX - 902	1
7	Fiber Optics Digital links	1
8	Fiber Optics Analog links	1
1	LOO Micron Multimode Step Index of 1.492 & Clad refractive Index of 1.406	1
,	Laser Fiber Optic Trainer Kit	1
	Mobile Communication Trainer System	1
	Multimedia Speaker	1
	Unisound Amplifier with Cassette Player	
	Ahuja Cordless Mice AWM - 490	ī
	Ahuja Speaker SRX 120DX	1
	Anuja Speaker SKX 120DX	2

		1
	. 690	4
	Ahuja Cordless MICE AWM - 690	4
46	- Mice PRU - ZZOO	2
47	is Mice ASM - 380 ALM	
48	in Speaker SRX 220	1
49	Amplifier SSA - 230III	1
50	DVD Player DVP - NSS T	1
51	0.5.0 model no. 103 10018	2
52	D.S.O model no. TDS 1012B	1
53	Almirah(78'x36'x19')	1
54	Almirah(50'x30'x17')	1.
55	Fiber Optic Design Trainer	1
56	Mobole Phone Trainer (ST2132)	1
57	Heat Convecter	1.
58	Table 3x2x2.5	2
59	Chair without arms polymer red chair	and the same time and the same
60	Chair Without arms polymes	1
61	Indent Book	1
62	T & P Register	1
63	Consumable Register	1
64	wooden Table 6x3	1
65	Exhaust Fan	40
66	Plastic Stools	1
67	Computer Table	1
68	Executive Chair Revolving full size	
	Office Chair with Cushion Seat Back Full Size Steel Pipe Frame	4
69	with Arms	1
70	Ceramic Coated Writing Board (1200x2400)	
	Intra Locking Screen 8x6	1
71	DVD Player ( DVD 22W)	1
72	1.5 Ton A.C	. 2
73	4KVA Stabilizer for A.C's	2
74	4KVA Stabilizer for A.C.3	

Items from S.No. 01 to 74 handed over to Sh. Balinder singh, Lecturer by Sh. Ajay Kumar, Guest Lecturer

Handed Over by

Sh. Ajay Kumar, Guest Lecturer

Taken Over by

Sh. Balinder Singh, Lecturer

Govt. Polytechnic Hisar

Dated:-

No: GPH/2023/

A Copy of the above is forwarded to the following for the information and necessary action

1. HOD/O/I ECE

2. St. Balinder Sigh Lecturer

3. Sh. Ajay Kumar Nehra Lecturer

4. Store